November 06, 2015

5K ﬁ f' 0" : e
C) ':-A> .-..?-'0- — ) - FMX

I=px NS
Y s« Fur Fon ZFy = ey
= 3w+ InCos30 = YN Siavel

d - SFE :‘ZF

Y =F 24
a - F 26 A ~y
Fy 7
* z At 4 < 5 ¢

—~[ZFdz Fr+ TRy >

ZF :’VE (:s'. "'Z. Fo‘




November 06, 2015




November 06, 2015

?4 /ON + Ffv\o‘\ FT,
F ax((l-t(w‘c‘.ll:&;

o

Sl
[ ]s%s T.H- . FBD
T &n-‘n-x
Sa my
J T
Fg'
_Zh
a - ]
 Fart GE)
A= |/V|,
o = (4)(19) Sinre) + F, oo T (19)- Fr
. 5

Oo »\?{ .,
-lomSFr - 200- ¢ Fr

ﬁh-zoo y o~
it wf

X 'b
\ V“"V




November 06, 2015




